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(i) “ 3 ra=abcd---yz3=abcd--- yx100+10z+ 3=4(abcd --- yx 25) + 10z + 3;
%/_/
k (k-2) (k-2)
10z+3 an+3( z ) 4+l z ) , 4, +3 4 +1
(iv) “ g ra=abcd---yzZ9=abcd--- yx100+10z+9=4(abcd --- yx 25) + 10z + 9;
%/_J
k (k-2) (k-2)
10z+9 4, +3( z ) 4n+1 z ) , a 4, +3 4 +1
(@ n 4r,+3 : ﬂ:1+4r1+3: 4 1 4r1+3:x:w
n X nx 4t+1 x (4t+Dx 4
:x:t+rl+1:>ﬂ: 1, an +3 . 3481=59x59( 59=4x14+3r, =14;3481

n t+r+1 nt+r+2)’

_Ax8T0+1t=870) .+ -+ . Axl4+s 1 9 1 1
3481 870+14+1 3481(870+14+1) 885 885-3481 885 885-59
=i+L »3841=23x167( 23=4x5+3,1, =53841=4%x960+1t = 960)
885 52215
o4 1 N 4x5+3 _1+ 23_1+1_1+1
73841 960+5+1 3841(960+5+1) 966 966-3841 966 885-167 966 161312
, , 4 1
(b) n 4r+1 , (4r,+)x3=12r, +3=4r"+3( 3r,=r")=>—=—
n [ ]
ar'+3 4 1 ar'+3 , 4 4 1 ar'+3 4
+ = = t—— =0 =t+r'+1=>—= = + = —
nxe 4t+1 e  (4t+1)xe n 4t+1 t+r'+1 nt+r'+1) n
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4 1 34n+D) 4 4 1

3
= = ; n (4r,+1 == = + 7
4+1 t+r'+1 n(t+r'+1 n 4t+1 t+r'+1 n(t+r'+1)
(4r,+1)
=4t +1=120 +121 = t = 20 H120 550 o ,
(i) n , '+1=3r+1 , t+r'+1 , M :
(4r,+1
3 4
nt+r'+1) ’ n
(4r,+1
'4—1+13'3—1+3—1+ 1 N 1
481 130 130-481 130 130-37 130 130-37+2 1307 - 372
f 130-37+———
3
1 1 1

= b+ (- 481=13x3713=4r, +1r,=3( ); 13x3=39
130 1604 3857620
=4x9+3=4r'+3r'=9( ); 130=43x3+137=12x3+1 1x1=1

—0x3+1 1 2 2 t+r'+1=130 )
i) L or4l=3n+1 L terel el 2 ,
ar, +1
3
nit+r'+1)
(4r,+1
4 1 173 13 1. 1 1
'1021 493 4931921 493 29-1921 493 29-1921+1 297 19212
S a1 T
3
11 1
- 4 T (+1921=17x11317 = 4r, +1r, =4 17x3=51
493" 18570 1034516130

=4x12+3=4r/+31/ =12  29=9x3+21921=640x3+1 1x2=2
=0x3+2, 2, 1 1

% (n =120t + 49), n , (
% (n=120t" +121))
(B) %(n:120t’+121) ( MG . n |

)
() n  120(7t'+1)+121 ( n=241108119212761,3601,4441,5281,- - [120(7t' +1) +121]) :
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4_ 4 1 7 4.1 1 1
n 4t+1 t+2 n(t+2) ' n t+2 nt+3) nt+2)(t+3)

7 7
wn=120(7t'+1) +121=4t+1..t=210t'+ 60 t+2=210t"+62=7(30t"+8) + 6, t+3

4 t+3
4 4 1 7 1 T 1 t+3
! n_ B i - " t+3 t 2+ t+3
n 4t+1 t+2 nt+2) t+2 n(t + 2) x + n(t + 2) x
7 7
_1, 2 1 I S 1
t+2 n(t+2)><t+3 n(t+2)><t+3 t+2 nt+3) n(t+2)(t+3
7 7 7 7
7 270+ 3
4 4 1 7 1 g
1081 4x270+1 270+2 1081x(270+2) 270+2 1081><(270+2)><270+3
1 N 270+3 1 273 1 272
270+ 2

270+3 272 =57 T
1081+ 270+ ) > 272 1081x272x39 272  1081x 272x39

1 1 1 1
+ = + +
1081x 272x39 272 42159 11467248

n 120(7t'+3)+49 ( n=409,1249,2089,2929,3769,4609,5449, - [120(7t' + 3) + 49]) :

4_ 4 17 4.1 1 1
n 4t+1 t+2 nt+2) ’ n t+2 nt+3) nt+2)(t+3)
7 7
.4 4 1 N 7 1 N 7x45 1 N 314
1249 4x312+1 314 1249x314 314 1249x314x45 314 1249x314x45
1 1 1 1 1 1 1

+ = + + = + +
1249x 314x45 314 1249x45 1249x314x45 314 56205 17648370
(i) n  120(7t'+3)+121 ( n=48113212161,3001,38411,46815521,--,[120(7t' + 3) +121]) :

4_ 4 17 4_1 1 1
n 4t+1 t+2 n(t+2) ' n t+2 Nnt+6) n(t+2)(t+6)
7 28
n=120(7t'+3) +121=4t +1..t = 210t' +120 t+2=210t'+122 = 7(30t' +17) + 3,
t+6) 7  (t+) U8 4_4 1 7 _1
7 n 4t+1 t+2 nt+2 t+2
7><E
7 1 t+6 1 t+2 4
+ = + = + +
n(t+2)><ﬂ t+2 n(t+2)><tJ;6 t+2 n(t+2)><tj;6 n(t+2)><tJ;6
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1 N 1 N 1
t+2 nt+6) n(t+2)(t+06)
7 28

960+ 6
X
7

3841 (960 + 2) x

1 960+ 6 1 966 1 962
= * 960+6 962  3841x962x138 962  3841x 962x138
0+2 3941, (960 + 2) x E x 962 xFoex

4 4 1 7 1 !
13841 4x960+1 960+2 3841x(960+2) 960+ 2

960+ 6

4 1 1 1
+ = + +
3841x962x138 962 530058 127478949

N 120(7t'+5)+49 ( n=6491489,2329,3169,4009,4849,5689, --,[120(7t' +5) + 49]) :

ﬂ: 4 _ 1 N 7 ﬂ: 1 N 1 N 1
n 4t+1 t+2 n(t+2) ’ n t+2 nt+6) n(t+2)(t+6)
7 28
4 4 17T 1 x84
2329 4x582+1 584 2329x584 584 2329x584x84
1 584 4 1 1 1

= + + = + +
584 2329x584x84 2329x584x84 584 195636 28562856
(i) n  120(7t' +4)+121 ( n=6011441,2281,3121,3961,48015641--,[120(7t' + 4) +121]) :

4 4 1 N 7 4 1 N 1 N 1
n 4t+1 t+2 n(t+2) ’ n t+2 nt+4) nt+2)(t+4)
7 14
n=120(7t"+4) +121=4t +1..t = 210t' +150 t+ 2= 210t'+152 = 7(30t' + 21) + 5,
t+4) 7 (+2 4 4.4 ., 7 _1
7 n 4+1 t+2 nt+2) t+2
- t+4
T 1 t+4 1 t+2 2
" t+4=t 2+ t+4=t 2+ t14 " t+4
nt+2)x—— + nt+2)x—— + n(t + 2) x nt+2)x-——
7 7 7
1 1 1
= + +
t+2 nt+4) nt+2)(t+4)
7 14
7)(360+4
L4 4 1 7 _1 7
1441 4x360+1 360+2 1441x(360+2) 360+2 1441><(360+2)><360+4
1 N 360+ 4 1 364 1 362
360+ 2

360+4 362 = arst
1441(360+ 2 0 362  3841x362x52 362  1441x 362x52
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2 1 1 1
+ = + +
1441x362x 52 362 74932 13562692

n 120(7t'+6)+49 ( n=7691609,2449,3289,4129,4969,5829,--,[120(7t’ + 6) + 49]) :

ﬂ _ 4 _ 1 N 7 ﬂ _ 1 N 1 N 1
n 4t+1 t+2 n(t+2) ’ n t+2 nt+4) nt+2)(t+4)
7 14
: 4 _ 4 _ 1 N 7 _ 1 N 7x88
2449 A4x612+1 614 2449x614 614 2449x614x88
1 614 2 1 1 1

= + + = + +
614 2449x614x88 2449x614x88 614 215512 66162184
(iv) n  120(7t'+5)+121 ( n=7211561,2401,3241,4081,49215761, --,[120(7t' + 5) +121]) :

4 4 1 7 4 1 1
—_= = + s —_= —+
n 4t+1 t+2 nt+2) n t+2 nt+2)
7
- n=120(7t"'+5)+121=4t +1..t = 210t'+180 t+2=210t"+182=7(30t" + 26),
(t+2) 7 4. 4 1 + r__1 + 1
n 4t+1 t+2 nt+2) t+2 nt+2)
7
4 4 1 7 1 1 1 1

; = = + =—+ =—+
721 4x180+1 180+2 721x(180+2) 182 721 x 182 182 18746
7

N 120x7t'+49 ( n=49,889,1729,2569,3409,4249,5089, - --,[120(7t' + 6) + 49]):

4 4 1 7 4 1 1
—_= = + , —_= +
n 4t+1 t+2 n(t+2) n t+2 nt+2)
7
4 4 1 7 1 1 1 1

: = = + = + = +
3409 4x852+1 854 3409x854 854 3409 8754 854 415898
7

1 11 1, 4 n=4t+1 n=120(7t'+s)+121 (t' O

n
)0<s<6,5=026) n=120(7t'+)+49 (t' O )(0<s<6,5=124)

4 ()n=840t' +121 (t' O )(i)n=840t'+361 (' O

)(iii)n=840t'+841 (t' O )(iv)n=840t"+169 (" O )
(Vn=840t"+841 (t' O )(vi)n=840t"+529 (t' O ) ;
4 1 1 4 1 1 1 4
—=—+= —==4+=45) —
n X y n y z n

X
?

Sk
SN
Slw
SIA

20



1 1 1 1 1
— = + = — 4+ —
15 15+1 152 16 240
15+
1 1 1 1
“15+37 _ 15 18 90
1 1 1
= = 15
ST Tk 2 (k ,k<n) 3
n+ 1 1 1 1
= + = — 34—
15+5 152 20 60
15+
I S SR S 3
T 15+9 152~ 24 40
9
2_ 1 1 1.1
9 9+1 9 9 "5 45
2 1
2 1 1
2 0T Tk " (k k<n) 2
E n+7 — 1 + 1 —l+i
2 K 9+3 ? 6 18
2 2 9+€




s_ 1t 1 1.1
g 8+1 8 3 24
1 1 3 1
~_ 2
@ n=3t+2 (t nTnek T e e ke<n) °
5 N 1 . 1 :1+1
k 8+4 8 4 8
3 73 8+Z
3
3 1 L1 11
22 22+2 222 8 88
+7
. 1 3 2
g 2 3
3. (2 n=3t+1 (n n n+kJr n? (k- n k<n) 1 1 1 1
. 22+11 222 11 22
+7
3 11
3
3_ 1 . 1 . 1
3_1 1 . 1 7 7+2  72+D+1" 72+D[7(2+1) +1]
3 n=3A+1 (n ) n t+l nt+)+1 nt+[nt+D+1] 3 2 2
2 2 Ll nsae1z7 t=2)
T3 11 231 - ST




m
(F)'
D) n=4t+3 (t ) 4 1 1 4 1 1 1 1
—=—+ —=—++ =—+—
n t+ n(t + X
1 n(t+1) 7 2 7x2 2 14
(Yn=24t"+21 4_1 1 4_1 1 1.1
t 0 n t+1 nt+1) 21 5+1 21(5+1) 6 42
3 3
4.1 1 1
5 1+1 5(1+D)+2 5*(1+1)*+2-51+1)
3
() nearsr | =244 4.1 1 1 L 11 6
B ! n t+1 nt+hH+2 n2(t +1)? — Ty 4=
(t ) ,24t +13 * 7( 3) n(t+1)+7( ) 2 4 20
4 0 2 4_ 11 1
n’ 1 L 1 13 3+1 13@+1)+2 132(3+1)%+2-13(3+1)
= + +
t+1 NE+D+2  nP(t+0Z+2nt+1) 3 6
3 5 1 1 1
=—+—+—
4 18 468
4.1 1 11
. , 4_ 1. 1 9 2+1 92+) 3 9
(i)n=24t"+9 n t+1 nt+1) 3
t 0 3 4_1 1 1.1
33 8+1 33B+1) 9 99
3
QRn=4t+1
(t ) 4 1 1 1
(in=2ar+17 (4t 1 . 1 17530 510
n t+1 @t+DH(n+D) nt+D(n+1)
t 0 4 1 1 1
3 3 - T A
41 11 154 6314




(

53

):

RN

D) n=4t+3 (t ) 4 1 1 4 1 1 1 1
n t+l n(t+1) 7 2 7x2 2 14
(iyn=24t"+21 4_1 1 4_ 1, 1 1.1
t 0 n t+1 n(t+1) 21 5+1 21(5+1) 6 42
3 3
4.1 1 1
5 1+1 5(1+D+2 5*(1+1)°+2-51+1)
3
(2 n=4t+1 (i) = 24"+ 5 4.1, 1 + 1 1 1 1 °
- ! n t+1 nt+)+2 n2(t +1)2 — T 4=
(t ) ’24t +13 +1 n( 3) PG VAT
0 3 4_1 + 1 + 1
1 1 1 13 3+1 13E+1)+2  13*(3+1)°+2-13(3+))
= + +
t+1 Nt+D)+2  n?t+1)°+2nt+1) 3 6
3 5 1 1 1
=—4+—+—
4 18 468
4.1 1 1.1
. , 4_1 . 1 9 2+1 92+) 3 9
(in=24t"+9 n t+1 n(t+1) 3
t 0 3 4_1 1 1.1
33 8+1 338+1) 9 99
3
Bn=4t+1
(t ) 4 1 1 1
(i)n = 24t' +17 4.1, 1 + 1 17 5 30 510
n t+1 Gt+Y(n+ nit+1(n+
t+D(n+1) nt+)(n+1
G 3 3 4 1,1 1
41 11 154 6314




():

Bn=4t+1

o SN

(iii)n = 24t' + 25
t 0

(an=840t'+73 |4 1 1 4 1 1 1
—= + + =+ +
N=840'+193 |n t+2 n(t+2)+10 913 230 30000 62997000
7 4 11 1
1033 260 38370 1030541460
(b)n=840t'+313 |4 1 1 4 1 1 1
—= + + =—+ -
n=840t'+793 |n t+2 nNt+2)+20 Nt 2)a n’(t+2)° | 1153 290 47770 798642745
7 4 1.1 1
793 200 22660 17693800
4 1 1 4 1 1 1
(C)n=840t'+433 | (12 nt+2)+5 " 433 110 ' 6805 64820443
n = 840t' + 673 7 411 . 1
673 170 16345 17693800
4 1 1 4 1 1
(d).n =840t' + 553 N tr2 nit+2) 1393 350 ' 69650
7
4 1 1 4 1 1 1

(e).n=120t"+ 25

N 114 NE+4)+5  nit+Ant+4) +5|

15

=—+ -
385 100 2567 19765900

(f).n =120t + 97

4 1 1

N t+l nt+D+5 nt+DnE+D+5]

3

41,01, 1
337 85 9550 54719500




~( )

(An=4+1 (teN)

o BN

n=3840t"+ 49

4 1 1 1
' = + +
(a).n=840t"+ 241 . 1 . . 1081 272 42159 11467248
—= + +
n t+2 nt+3) n(t+2)(t+3) 4 1.1, 1
01+ 406 7 7 1249 314 56025 17648370
n= "+
4 1 .\ 1 .\ 1
(b).n =840t" + 481 3841 962 530058 127478949
4_ 1 .\ 1 .\ 1
n t+2 nt+6) nt+2)(t+6) 4 1 N 1 N 1
S0+ 645 7 28 2329 584 195636 28562856
n= "+
4 1 .\ 1 .\ 1
(c).n = 840t" + 601 1441 362 74932 13562692
4_1 s 1 . 1
n t+2 nt+4) nt+2)(t+4) 4 1.1 1
S0+ 769 7 14 2449 614 215512 66162184
n= +
4 1 .\ 1
(d).n=840t"+ 721 .1 . 721 182 18746
- = +
n t+2 nt+2 4 1. 1
7 3409 854 415898

[ x>t ~Cin [ -~ .

(iv)n=840t' +169 (V)n =840t +289 (Vi)n =840t +529

,  ()n=840'+121 (ii)n=840t'+361 (jii)n=840t"+841




2
it 12( n+k<n+—, k<n),
n+k n
n+-—
)o 1
2
) n
2 1 1 ,
ﬁ_n+k+n " k n k<n
2 "y
2
3
) A
n
@D. n=3%+2 n=3t+1 ,(t )
3 1 1 ,
Tk n2( K n k<n(n+k) 3
3 M
3
2. n=3%+1 ,(t )
3_1., 1 1
n t+1 nt+D)+1 nt+D[n(t+1)+1]
2 2
4
) i
n
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()

()

()

N

(d')n =840’ + 553

e —
n t+2 nt+2)

-

Mn=4t+3 4.1 1 4.1 1
n t+1 n(t+1 7 2 14
(Qn=4t+1]| (i)n=24t"+21 4.1, 1 4.1 1
t 0 n t+1 nt+2) 21 6 42
3
(ii)n=24t+5
, 4 1 1 1 4 1 1 1
n=24t"+13 —= + +— 5 —=—+—+—
« 0 n t+1 Nt+D+2 n%(t+1)%+2n(t+2) 5 2 4 20
3 6
(iyn=24t"+9 4a_1 1 4 1.1
t 0 n t+1 n(t+1) 21 3
3
(=24t + 17 4_ 1, 1 1 41 1. 1
t 0 n t+1 (+)(n+) nt+H(n+1 17 5 30 510
4 1 1 . f 1 1 1
a)n=120t'+ 25 —= + + =+ +
@) n t+4 nt+4)+5 nt+4)[n(t+4)+5 | 385 100 2567 19765900
15 75
4 1 1 1 1 1 1
b)n=120t" + 97 Z= + + _ = "
(b) n t+4 nt+)+5 nt+H[n(t+1)+9 337 85 9550 54719500
3 15
(@)n=840t'+73 | 4 1 1 1 1 1 1
—= + + —= + +
n=840t'+193 | n t+2 n(t+2)+10 n?(t+2)% | 913 230 30000 62997000
o nt+2) e+
7 10
;
Yn=4t+1 | (iii)n=24t"+25 b)n =840t + 313
@ (i) (c)n=120t"+ 73 () ﬂ: ! + L + 12 5 = ! + 1 + !
t o n=840t'+793 | n t+2 Nt+2)+20 n?(t+2)%| 793 200 22660 17693800
— nt+2)+———
7 20
7
(c)n=840t"+433| 4 1 1 1 1 1 1
, —= + + > > =—+ +
nN=840t'+673 | n t+2 nNt+2)+5 n’(t +2) 433 80 3580 4482160
o nt+2)+—
7 5
;
4 1 1 4 1 1

= +
1393 650 69650




(

)

()

()

(a)n=840t" + 121

4 1 1 1 4 1 1 1
b)n=840t"+ 241 —= + + = + +
() n t+2 nt+3) nt+2)(t+3) | 1081 272 42159 11457248
y4 y4
(c)n=840t" + 361
4 1 1 1 4 1 1 1
d)n=120t"+121f (d')n=840t"+ 481 —= + + = + +
(d) (@) n t+2 nt+6) nt+2)(t+6) | 3841 962 530058 127478949
7 28
4 1 1 1 4 1 1 1
€)n=840t"+ 601 —= + + = + +
(€) n t+2 nt+4) nt+2)(t+4) | 1441 362 74932 13562692
7 14
(f’)n:840t'+721 f:i_k; i:i_ki
n t+2 nt+2) 721 182 18746
7
Hn=4t+1 (iii)n=24t'+ 25
é: “) (i) (g')n=2840t" + 841
n (teN) | ' O )
(a')n =840t + 49 4t , 1 4 1., 1
n t+2 nt+2) 3049 854 415898
7
(b')n=840t’ + 169
(c')n=840t' + 289
4 1 1 1 4 1 1 1
e)n=120t"+49| (d)n=840t"+409 —= + + = + +
(© (@) n t+2 nt+3) nt+2)(t+3) | 1249 314 56025 17648370
7 7
(€)n=840t" + 529
4 1 1 1 4 1 1 1
f)N=840t"+649 —= + + = + +
() n t+2 nt+6) nt+2)(t+6) | 2329 584 195636 28562856
7 28
4 1 1 1 4 1 1 1
Yn=840t' + 769 — = + ¥ = +
(@) n t+2 nt+4) nt+2)(t+)4 | 2449 614 215512 66162184
7 1A
() ), =, (i))n=840t'+121(ii)n = 840t' + 361(iii)n = 840t +841(iv)n = 840t' +169(v)n = 840t’ + 289(iv)n = 840t’ + 529
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4

, : n=4t+1 n=120(7t"+s)+121 (t" O )(0<s<6,
n
$=02,6) n=120(7t'+s)+49 (t' 0 )(0< s<6,5=124) , 4
n
()n=840t'+121 (t' O )(ii)n=840t'+361 (t' O )(iii)n = 840’
+841 (' O )(iv)n=840t'+169 (t' O )(V)n=840t"+841 (t' O
)(Vi)n =840t +529 (t' O ) ; 4
n
4 1 1 4 1 1 1 4
(—==+= —==+=+5) -
n Xy n X vy z n
: ? 258716 28943 _1
)’ 1
: ? ;
4 1
n y
4
k) ) n
( ) (8 6 X )
(2003 11 ) )
( 70 1 X )
91 ( ) 26 4  p52~p59
92 Golomb ( ) 27 1

p24~p26
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